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Hint:  For the volume, you need to find the area of ¾ of a circle of radius 11cm.
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3. Determine the volume of each cylinder.
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216 cm®

3456 om®
512cm®

36cm®

192 om®

1728 m°

About 4423.4 m®
About 9425 cm®
About 1131 om®
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8. Take It Further Many types of cheese are produced in
cylindrical slabs. One-quarter of this slab has been sold.
) Whatis the volume of this piece of cheese?
b) The mass of 1 cm of cheese is about 1.2 g.
What i the mass of the cheese shown here?
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1. The prism and pyramid have the same base and height.
Determine each volume.
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2. Determine the volume of each rectangular pyramid.
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Prism: V=216 om®; pyramid: V=72 cm®
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1500 om®
About 46.7 m®
2250 cm®
som®

306 cm®
5225 m°

230m

About 167 517 m* of rock have been lost,
perhaps due to wind and water erosion.
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1. Determine the volume of each prism.
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2. Determine the volume of each prism.
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